> A
A & 0l & AF 2 E A A
20158 = =0l& LB A IIEISESIH 2SI
fAM: 2=
Hu: 23 0e84 Y WS
Sl RHTHY SoAL X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
F oM =t 10,847,888 8,875,186 1,972,702
= 182,747
J| 144,296
< 3,823,472
Al 6,697,373
Fattssd ¢ &8 1,007,089 1,111,801 A 104,712
= 155,287
< 68,753
Al 783,049
FUHSHY AL X2 311,626 335,560 A 23,934
< 17,086
Al 294,540
ooz 3529 27,080 41,760 A 14,680
201 Let24d] 5,500 10,320 A 4,820
01 At 22/l 3,000 2,820 180
ONYAAS| 3o 8a »g
100,000& 62X * 12| 600
Ozsti=dA 22 & XA 2,400,000& 2,400
02 =224l 2,500 7,500 A5,000
OOA2 &2l s 2,500,000 2,500
202 04l 1,580 1,440 140
01 S LHOIYI 1,580 1,440 140
OFsttl=adAl =& & X==+& 1,580,000 1,580
401 Al HIZ 201 Y] 20,000 30,000 A 10,000
01 A& HI 20,000 30,000 A 10,000
O=2sttl=Ad 24| 20,000, 000& 20,000
ZEUE S0 =M XA 5,000 5,000 0
307 glz2+ol & 5,000 5,000 0
04 QIZFHALAIH B = 5,000 5,000 0
Oogls=0l =H 5,000,000 5,000
SESA3 HEKHA 15,000 15,000 0
307 21201 A 15,000 15,000 0
04 QIZFHALAIH B = 15,000 15,000 0
OFESE— = ci ES PR 15,000,000& 15,000
&= Ot0t=0 & BHE HHZ 50,000 50,000 0
307 gl2tol & 50,000 50,000 0
04 DIZHHALALSE E X 50,000 50,000 0
OHM178l &= Ot0tF0f & YHE BAUI
50,000,000 50,000
SLEHIE 439 NN 5,800 5,800 0
307 21201 A 5,800 5,800 0




fAM: 2=
Hu: 23 0e84 Y WS
Sl RHTHY SoAL X CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
04 QIZFHALAIH E = 5,800 5,800 0
OAnE sotel €5 & dA 2K
5,800,000& 5,800
HOotot= =2stets X3 56,746 57,000 A 254
< 11,386
Al 45,360
307 glz2tol & 56,746 57,000 A 254
< 11,386
Al 45,360
04 QIZFHALAIH E = 56,746 57,000 A 254
Oxobl=e 2stas XA 56,746,000& 56,746
< 11,386
Al 45,360
A2QHEH 93,000 93,000 0
307 21201 A 93,000 93,000 0
04 QIZFHALAIH B = 93,000 93,000 0
ORM302 ALEHSH 93,000
- SFEUS 53,000,000 53,000
- s5Fd2sE 40,000,000 40,000
Helzg u= oz 19,000 20,000 A 1,000
< 5,700
Al 13,300
307 21201 A 19,000 20,000 A 1,000
< 5,700
Al 13,300
04 DIZHHALALSE B X 19,000 20,000 A 1,000
OHHelz uz = 19,000, 000& 19,000
< 5,700
Al 13,300
HEA2da S 40,000 40,000 0
307 glz2+ol & 40,000 40,000 0
04 DI2HHALALSE E X 40,000 40,000 0
OHM9sl HRAEZ #IME 40,000,000 40,000
NEzss S8 693,463 774,241 A80,778
= 165,287
< 51,667
Al 486,509
ANEogES2H 29 & X2 165,000 173,350 A 8,350
201 L4l 1,000 400 600
01 At 22l 1,000 400 600
OANEES=H AR A&
100, 000& x5H 23] 1,000
301 et a = 164,000 172,950 A 8,950




2N
X ZH -
L= B

el

5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
V=t - 2SRES24=3 164,000 172,950 A 8,950
Ogads 2= 156,000, 000& 156,000
og=sE 2y & =4 3,000, 000& 3,000
O«AJl =2l & 7¢ 5,000,000 5,000
ZIIE Ot0t=0l A3 M X 4,000 2,000 2,000
< 1,200
Al 2,800
307 21201 A 4,000 2,000 2,000
< 1,200
Al 2,800
04 QIZFHALAIH B = 4,000 0 4,000
OHM22sl ZI1= Ot0tF=0 H=H &IHA&
4,000,000& 4,000
= 1,200
Al 2,800
FIEesM=H FHXH 16,666 6,200 10,466
< 5,000
Al 11,666
307 21201 A 16,666 6,200 10,466
< 5,000
Al 11,666
04 QIZFHALAIH B = 16,666 0 16,666
OZJI& eZosH AR 16,666,000 16,666
< 5,000
Al 11,666
Ng=std =4 84,900 24,900 60,000
307 21201 A 84,900 24,900 60,000
02 It S AIHE L 37,700 24,900 12,800
OXg=zsta mgas AR 37,700,000& 37,700
03 QIZtHNHE2IHIEE 47,200 0 47,200
OXg=2std 2498 & N& 47,200,000 47,200
Zstol=dd s8I 47,200 47,200 0
307 21201 A 47,200 47,200 0
03 AN EE2IHIES 47,200 0 47,200
Os&&UE 244 XA 47,200,000 47,200
2etFelItEAY 225,047 166,861 58,186
= 155,287
< 10,467
Al 59,293
307 gl2tol & 225,047 166,861 58,186
= 155,287
< 10,467
Al 59,293
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fAM: 2=
M Fo=ssd 2 I
el NHesttlz SHX (el mel)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 2,000 0 2,000
04 RIZFHALAIH E = 2,000 0 2,000
ORI S 23t sotd 2 &R 2,000,000& 2,000
24 N (FA2EUE) 4,000 0 4,000
307 21201 A 4,000 0 4,000
04 QIZFHALAIH B = 4,000 0 4,000
O=24Z&s 4,000,000 4,000
SFHFLAHLHAERZ XA (KESAS) 5,000 0 5,000
307 21201 A 5,000 0 5,000
04 DIZHHALALSE E X 5,000 0 5,000
Ot ES A3 5,000,000 5,000
SSEHEAUAN XA (HEMLIOIONE HAENY) 7,000 0 7,000
307 glz2tol & 7,000 0 7,000
04 DI2HHALALSE E X 7,000 0 7,000
OSSH IIE0LINOIE HAENE
7,000,000 7,000
Ao Al XA (Lol L HAHE QorsA) 2,250 0 2,250
307 2201 A 2,250 0 2,250
04 DIZFSHAIAIRI 2 = 2,250 0 2,250
Okl & HA4ad b3 A 2,250,000 2,250
g=3 N (g=232H) 1,000 0 1,000
307 g1+l & 1,000 0 1,000
04 DI2HHALALSE E X 1,000 0 1,000
Oog=szad 1,000,000 1,000
SUEF XA (AR IIE S23) 1,000 0 1,000
307 21201 A 1,000 0 1,000
04 QIZFHALAIH B = 1,000 0 1,000
OAe JIE 393 1,000, 000& 1,000
A3 XN (EIH2H 3 &) 3,000 0 3,000
307 21201 A 3,000 0 3,000
04 QIZFHALAIRH B & 3,000 0 3,000
OX=HIHM ZII= a3 SN
3,000,000 3,000
SNSEEES NA(SHEE =H) 2,000 0 2,000
307 21201 A 2,000 0 2,000
04 QIZFHALAIH B = 2,000 0 2,000
OsMAEd 29 2,000,000 2,000
Ha2os53 K 70,000 0 70,000




EX: S3Hs
M 2308y U IE
e NYESsttzs s8XE (2 &HH)
- _ _ RE]
CEE O (BA) - HRAY - BAS %@ﬁ 2t
[ 35,000
Al 35,000
70,000 0
& 35,000
Al 35,000
HAE X 70,000 0
=353 XN 70,000,000 70,000
& 35,000
Al 35,000
SN 2,000 2,000
2 MO 2,000 2,000
2,000 2,000
2,000 2,000
2 Hdaldl = 2,000,000& 2,000
88,600 712,300
= 17,500
& 3,750
Al 67,350
=24 68,400 692, 100
= 17,500
= 3,750
Al 47,150
s Nzt 16,000 15,700
QB2 A Y| 1,000 700
A2 22| Hl 1,000 700
OSERSIHESARS Fo&ME
100, 000& x5 x23| 1,000
401 Al HI L E0HHI 15,000 15,000
15,000 15,000
OSHESHE e L HH| (10HA)
15,000,000 15,000
SFEAIES 29 7,400 14,400 AT7,000
201 et 9| 7,400 14,400 A7,000
01 AP 2t 2] d| 2,400 2,400 0
Ogtt4f2Y| 2,400,000& 2,400
02 =224 H| 5,000 12,000 27,000
odII=Z2 S 5,000,000 5,000
ESFHOUR M2 29 20,000 20,000 0
307 2izto| A 20,000 20,000 0
02 QIZIA AAIE E X 20,000 20,000 0
OHAEs X 22 20,000, 000& 20,000
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EX: S3Hs
Hu: MY XE
S9l: RBEP LREX CERED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o2 228 2822 H&E 1,300,000& 1,300
OAQ4 AELEEEAHY 2 3,500,000& 3,500
202 04| 2,000 1,440 560
01 2Ll 2,000 1,440 560
o= 2 N8 2,000,000& 2,000
203 €2 F=&d| 6,000 4,320 1,680
03 Al ZH =X 2= XIH| 6,000 4,320 1,680
O2SM= AIHFTRNALZE=XH 6,000,000& 6,000
301 LBt A= 9,500 0 9,500
11 JIEtE A= 9,500 0 9,500
OZTLER Z2H BAZ2(A2) 8,000,000 8,000
O4LRUBTELSAE B4
150,000 x10& 1,500
S 2ZHEA 2 19,920 11,800 8,120
= 9,960
Al 9,960
201 LBt | 2,640 11,800 N 9,160
= 1,320
Al 1,320
01 AP 22| H| 2,640 11,800 A9,160
OS2 HEA 29 2,640,000& 2,640
= 1,320
Al 1,320
301 et A= 17,280 0 17,280
= 8,640
Al 8,640
11 JIEtE &= 17,280 0 17,280
O=2st&ZH&E Al &SH] 17,280,000& 17,280
= 8,640
Al 8,640
=2&H dA & 2ol B2A 10,000 0 10,000
201 Bt 10,000 0 10,000
03 A2 G| 10,000 0 10,000
Oz EHIEA & 22U 89 10,000,000 10,000
S22 e 7,226,334 4,000,000 3,226,334
& 3,503,167
Al 3,723,167
ZINEE Helostsa Hg 7,006,334 4,000,000 3,006,334
& 3,503,167
Al 3,503,167
401 AlEHIZL 2 0HY| 7,006,334 4,000,000 3,006,334
& 3,503,167
Al 3,503,167




EX: S3Hs
Mo BN IE
e S22 oY (9 ® =)
4
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
01 Al& H| 6,326,334 4,000,000 2,326,334
OZJI=20elolt=22 HEY  6,326,334,000& 6,326,334
= 3,163,167
Al 3,163,167
02 2teld| 650,000 0 650,000
OZdJl=80eoietsa A 650,000,000& 650,000
& 325,000
Al 325,000
03 AlE 20| 30,000 0 30,000
OdIJsEesoIet=2 AHE 30,000,000 30,000
o= 15,000
Al 15,000
A2 AXNE N 220,000 0 220,000
401 A& HI L E0HHI 220,000 0 220,000
01 Al&H| 220,000 0 220,000
OA223 2ZXNE HEAIY EXI0HL
220,000,000& 220,000
Mot =4 1,976,128 2,009,663 AN 33,535
J| 144,296
o= 247,802
Al 1,584,030
HEAE =4 470,540 689,000 A 218,460
& 200,000
Al 270,540
M A HHl 70,540 69,000 1,540
201 et Y| 10,000 8,000 2,000
01 AP 2t 2] d| 10,000 8,000 2,000
OM=sSAESE 22 & 29 10,000,000& 10,000
401 Al HI L 204 HI 60,540 61,000 AN 460
1 Al&H| 60,000 60,000 0
OMSANESE X & B 60,000,000& 60,000
03 AlE 21| 540 1,000 AN 460
OM=SAEE X &€ B4 540,000 540
FOYUSE SUHE MEHNSAMNE HY 400,000 0 400,000
o= 200,000
Al 200,000
401 Al HI L 2 0HHI 400,000 0 400,000
& 200,000
Al 200,000
01 Al& H| 397,500 0 397,500
OF0d=d SUHE MEXNSAE A
397,500,000 397,500
o= 198,750
Al 198,750




2N 2HMSH
N MsNY |4

e HSAE =4 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
03 Al 20| 2,500 0 2,500
O SUHE MEXNSANE A
2,500,000 2,500
& 1,250
Al 1,250
M=z X 405,440 302,440 103,000
HEsUs s8XS 200,440 145,440 55,000
201 LBt 9H]| 50,000 0 50,000
03 A2 G H| 50,000 0 50,000
02015 Al2IStE stOtS M=03
50,000,000 50,000
202 o4 H| 1,440 1,440 0
01 2Ll 1,440 1,440 0
OMsSgEA NY L A& HSAIE AE
1,440,000 1,440
307 2Iz2t0| & 149,000 144,000 5,000
02 DIZHEAAIE E X 149,000 144,000 5,000
OZIE SAHHNE sdEBX(M=3)
2,000,000& 2,000
OHMos =2 SHME SHEXZ(HME3)
2,000,000& 2,000
OHM268 ZIE MEANSUHEE ™ (MEHS
3l) 90,000,000 90,000
OZIE Y M2 MEHs =2 =™ (MEH
=23]) 30,000,000 30,000
OdIE HUHQMEHESUHE S (MEH
23]) 10,000,000& 10,000
OZJIE Zoel HEia(HNs3)
10,000,000& 10,000
OHMe &5 =g & d=20U3 s
X(MEM=3) 5,000,000& 5,000
SXAD HEUs 288X 51,000 0 51,000
307 212t0| & 51,000 0 51,000
02 DIZHB AAIE E X 51,000 0 51,000
OEH? MEHEUE S8 51,000,000& 51,000
ANEH M= HS HEX A 80,000 80,000 0
307 2Iz2t0| A 80,000 80,000 0
04 SIZ2HSHAALSH E & 80,000 80,000 0
Ot st 2 XMIMTBLHE! JH = 80,000,000& 80,000
AZD| MEHEUSE W KR 34,000 32,000 2,000
307 2izto| & 34,000 32,000 2,000
04 CIZ2tSHALALS B = 34,000 32,000 2,000




2N
X ZH -
L= B

el

Z M = ot
st |54

M=z XA

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OAZED MEHSUHS Hx BX(MEHSs3)
34,000,000 34,000
8.15 Z2=J18 32L& M= XS 5,000 5,000 0
307 2iz2to| A 5,000 5,000 0
04 QIZ2tSHAFAFS B X 5,000 5,000 0
08.15 Z=2J|1E8 =303 MWAEBX(M=3)
5,000,000 5,000
SEU3 =l XN 15,000 20,000 A5,000
307 2Iz2t0| & 15,000 20,000 A5,000
04 SIZ2ISHAAISH E & 15,000 20,000 A5,000
OfTUs3 MaX& 15,000,000 15,000
2a H=E K& 10,000 10,000 0]
307 2iz2to| A 10,000 10,000 0
04 OIZ2tSHAFALS B X 10,000 10,000 0
O3&U3 MaX& 10,000,000 10,000
SAMAHSE HEXHK 10,000 10,000 0
307 QI2t0| ™ 10,000 10,000 0
04 CIZ2tSHALALSE B X 10,000 10,000 0
O2Ads=dUa MHE XA 10,000,000& 10,000
MNEASESHIE 29 532,000 460,000 72,000
ANZEE 2SHIIE &9 532,000 460,000 72,000
301 et A= 532,000 460,000 72,000
V=L - 22242 532,000 460,000 72,000
ONBHFSSZIR 2 (Y4=R)
532,000,000 532,000
MEH =AY & MEXNFSAH 568,148 558,223 9,925
J| 144,296
= 47,802
Al 376,050
MEH=ES 29 136,500 163,900 N 27,400
201 gEt2Ay| 11,300 10,700 600
01 AP 2t 2] H| 4,000 3,400 600
ONEA=Eo3 3oas ¢ 2,000,000& 2,000
ONsSdEAI 222 H&E & =24
2,000,000 2,000
02 2% H| 7,300 7,300 0
oz xE KXl 4,000,000 4,000
OWCSOIEEERE Yool 448
1,200,000 1,200
Ogteta 2 MTBLHS EHIOI X | Al 22l
2,100,000 2,100

_12_




fAM: 2=
3 MsaY |4
el dMEHsgdsd E dedsAE (Sl & &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 125,200 153,200 A 28,000
02 ItE M AMHEE 45,200 153,200 A 108,000
O=iMs sdXNA(M=3) 30,000,000 30,000
OHAEAZAEH 29 15,200, 000& 15,200
03 BIAHMNHE2IHIEE 80,000 0 80,000
OAN,Z 4Ed=ss S4X& 70,000,000& 70,000
OAlL 2 M=s3 S4dX& 10,000, 000& 10,000
HEHSWY 4E2Y 14,000 10,000 4,000
307 gl2tol & 10,000 10,000 0
04 DIZHHALALSE E X 10,000 10,000 0
QgL M4ERI(15HER)
10,000, 000& 10,000
405 XHobF S HI 4,000 0 4,000
01 HAtH ESFH S 4,000 0 4,000
O0elol HEALNY SEFU(=SSHNE)
4,000,000& 4,000
ANAce dEHMSAEX iR 243,648 243,648 0
J| 109,296
= 40,302
Al 94,050
307 21201 A 243,648 243,648 0
J| 109,296
< 40,302
Al 94,050
04 DIZHHALALSE E X 243,648 243,648 0
OXSHe s NI Bixl
243,648,000& 243,648
2l 109,296
< 40,302
Al 94,050
MExs N2 24,000 18,000 6,000
301 e A= 24,000 18,000 6,000
MIIEE43 24,000 18,000 6,000
O=2=Hd=s Nk 2¢ 500,000 x4 «12& 24,000
FIENE EdEX 100,000 90,000 10,000
307 gl2tol & 100,000 90,000 10,000
04 DIZHHALALSE E X 100,000 90,000 10,000
OR61sl ZINZME EXEX(MS3)
100,000, 000& 100,000
HSHSH AIHAS 50,000 28,675 21,325
J| 35,000
< 7,500
Al 7,500




fAM: 2=
3 MsaY |4
Sl MEHSEISNSH U MEHSNE (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
301 et a = 50,000 28,675 21,325
J| 35,000
< 7,500
Al 7,500
MIIEEd=3 50,000 28,675 21,325
OXN=HSH™ AlYA 50,000,000 50,000
J| 35,000
< 7,500
Al 7,500
HE2LAZH (2SS M=) 36,760 36,710 50
JI2ZH(23tH =) 36,760 36,710 50
22l (2sHdsa) 36,760 36,710 50
201 et 8,800 8,000 800
01 At 22l 8,800 8,000 800
ORAN2E AR 22| 8,800,000 8,800
202 4l 24,960 24,960 0
01 = LH 4 Hi 24,960 24,960 0
OJl2ge+80ul(13Y) 24,960,000 24,960
203 R =&t 3,000 2,400 600
04 FN2ELRZ=TH| 3,000 2,400 600
ORMSLYRFAHI(15210158t)

250,000& =128 3,000




